1.

—3x% + 2x ©f] oJH 2] Fofjof
= Qlch. ojH A& Fstoiat,

e
=%

T

kel
=

al

A

& A3sto] Moy x2 + 3x 7t



® -2



=3a-204 W, 2x—yE a, boll T

gt Ao

JE S |

® 4a-b

vet

il



e DY g BAAAGA AU B
wolgolg setdul, xEa b, 5 AOR
Uhebfoet.

L
=
[

a




Mz

N\ N

(@]
D o o I
! o
= I A —1m
+ > t +
[ =
3x xl,Q%
——N— —
Q S
L
I~
5A;L ool
I I T
P
A
N
SRS = B SRR TS
—— —— —
@ © ©






X2

S atb o g2

12y

@ 8

G 10



8. The Il AtckelZ el Wol nkEm o] Holof B 917k

2a%b
, 2a%b
; 1
] ) )41_\
2al\) o ~2
y “4ab’
~~3a%b-"



A B olgsto] theL Adstu?

511 x 511 - 510x 512 -2

D -2 ® -1 3 0 @ 1




<

ny

—_
N .
Al wr
G
I T
o T
ol
o = N
_ ___ o7
ISP
_ -
2 =B

[xe BN

{O_E
U
U
NG
mo  H
m
B o

10.




(1) + (12 + (-1 4+

4 (_1)2009 + (_1)2010 9}] %}\—_‘O:‘)

® -2009 @ -1 ®o0
@ 1 ® 2010



12. St 4, Bol| tisto] AxB=A-3

B e Aol 512F A = x242x—4
,B=x*-3x+5°]| t5lo] (A«B)*B &

7tes] spH?
@O -5x% —20x —22 @ -5x%+20x-34
@ 2x2-x+1 @ 2x2+5x+9

® 5x24+929x—4



13.

x=ala-6)¥d

LHER Y

® x*-36

@ x>+ x-36

9, (a+1)(a—-2)(a—-4)(a-T7)= x|

@ x2-6

® x2+x-56

@ x*+x



14. x=2y=3am e )2 10 g2 a0t



15. the Axpur Al Zo| A AR

(1, 2) 7} a7} =A] @ A9

@ 3x+2y="7

@ —x+Ty=13 ® 2x—4y = -6
@ 4x+2y=6 ® —2x+5y =8



